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Èìå:

Òðåòî êîíòðîëíî ïî ÑÅÏ

01.06.2016

Çàä. 1. Äàäåíà å ñëåäíàòà ïðîãðàìà:

h(x) = f(x) where
f(x) = if x == 0 then 1

else if x == 1 then 3
else g(2 * f(x - 1), 3 * f(x - 2))

g(x) = if x == 0 then y
else g(x - 1, y) + 1

Äîêàæåòå, ÷å (∀x ∈ N)[!DV JhK(x) =⇒ DV JhK(x) ' 3x].
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Çàä. 1. Äàäåíà å ñëåäíàòà ïðîãðàìà:

h(x) = f(x) where
f(x) = if x == 0 then 1

else if x == 1 then 4
else g(3 * f(x - 1), 4 * f(x - 2))

g(x) = if x == 0 then y
else g(x - 1, y) + 1

Äîêàæåòå, ÷å (∀x ∈ N)[!DV JhK(x) =⇒ DV JhK(x) ' 4x].
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